# Research Article **Optimal** *t***-rubbling on complete graphs and paths**

Nándor Sieben\*

Department of Mathematics and Statistics, Northern Arizona University, Flagstaff, Arizona, USA

(Received: 8 May 2023. Received in revised form: 29 June 2023. Accepted: 30 June 2023. Published online: 4 July 2023.)

© 2023 the author. This is an open-access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).

#### Abstract

Given a distribution of pebbles on the vertices of a graph, a rubbling move places one pebble at a vertex and removes a pebble each at two not necessarily distinct adjacent vertices. One pebble is the cost of transportation. A vertex is *t*-reachable if at least *t* pebbles can be moved to the vertex using rubbling moves. The optimal *t*-rubbling number of a graph is the minimum number of pebbles in a pebble distribution that makes every vertex *t*-reachable. The optimal *t*-rubbling numbers of complete graphs and paths are determined.

Keywords: optimal *t*-rubbling; pebbling.

2020 Mathematics Subject Classification: 05C99, 05C35.

# 1. Introduction

Graph pebbling is a simple model for the transportation of perishable resources. Let G be a connected simple graph with vertex set V. A pebble distribution  $p: V \to \{0, 1, 2, ...\}$  on G is a placement of some pebbles at the vertices of G. A pebbling move  $(v \to u)$  removes two pebbles from v and places one pebble at the adjacent vertex u. We think of the lost pebble as the cost of transportation along the edge vu. A vertex r is *t*-reachable from a pebble distribution if at least t pebbles can be moved to r by a sequence of moves. A pebble distribution is *t*-solvable if every vertex is *t*-reachable. A recent guide to the extensive literature of graph pebbling can be found in [13]. Another useful reference is [12].

The *t*-pebbling number of G is the smallest number  $\pi_t(G)$  of pebbles in a pebble distribution that forces the pebble distribution to be *t*-solvable. The *optimal t*-pebbling number of G is the least number  $\pi_t^*(G)$  of pebbles we need to create a *t*-solvable pebble distribution. Deciding whether  $\pi_1^*(G) \leq k$  is an NP-complete problem [18]. The *t*-pebbling number of some graph families has been found [6, 8, 11, 16, 17]. Some optimal *t*-pebbling numbers were determined in [10, 19–21].

Graph rubbling allows for an extra move. A *strict rubbling move*  $(v, w \rightarrow u)$  removes one pebble each from the distinct vertices v and w and places one pebble at the common neighbor vertex u. This time the pebbles are moved along the edges vu and wu and this transportation costs one pebble. A *rubbling move* is a pebbling or a strict rubbling move. Graph rubbling was introduced in [4] and further developed in [1–3, 7, 9, 14, 15].

The *t*-rubbling number of G is the smallest number  $\rho_t(G)$  of pebbles in a pebble distribution that forces the pebble distribution to be *t*-solvable. The *optimal t*-rubbling number is the least number  $\rho_t^*(G)$  of pebbles we need to create a *t*-solvable pebble distribution. In this paper we determine the optimal *t*-rubbling numbers of complete graphs and paths.

## 2. Preliminaries

We start with some basic results about graph rubbling. If the total number of pebbles on the vertices that are adjacent to a vertex v is a, then the maximum number of pebbles we can transfer to v using only these pebbles is  $\lfloor \frac{a}{2} \rfloor$ . This is because the pebbles can be paired up and used in rubbling moves until we run out of pebbles. Transferring pebbles between the vertices adjacent to v, instead of directly moving them to v, has no benefit.

Since the expression  $\lfloor \frac{a}{2} \rfloor$  plays an important role in our calculations, we collect some tools that help handling it. Let pty(k) be the parity of the integer k. That is, pty(k) := 0 if k is even and pty(a) := 1 if a is odd. Then  $\lfloor \frac{1}{2}a \rfloor = \frac{1}{2}(a - pty(a))$ . For  $x \in \mathbb{R}$  and  $a \in \mathbb{Z}$  we often use the identities

$$[-x] = -\lfloor x \rfloor, \quad \lfloor a + x \rfloor = a + \lfloor x \rfloor, \quad [a + x] = a + \lceil x \rceil.$$

<sup>\*</sup>E-mail address: nandor.sieben@nau.edu

We will denote the vertex set of the graph G by  $V = \{v_1, \ldots, v_n\}$ . Let  $m_i$  be the maximum number of pebbles that we can move to vertex  $v_i$  using rubbling moves. A pebble distribution is *t*-solvable if  $m_i \ge t$  for all *i*. A pebble distribution is called *t*-optimal if it is *t*-solvable and contains  $\rho_t^*(G)$  pebbles.

The *transition digraph* of a sequence of rubbling moves on *G* is a directed multigraph with vertex set *V*. Every rubbling move in the rubbling sequence contributes two arrows to the transition digraph. The move  $(v, w \rightarrow u)$  adds the arrows (v, u) and (w, u). The *No-Cycle Lemma* of [4] essentially states that if a vertex is *t*-reachable, then it is also *t*-reachable with a rubbling sequence whose transition digraph has no directed cycles. In particular, we can avoid moving pebbles back and forth along an edge.

If a pebble distribution is s-solvable and another pebble distribution is t-solvable, then the sum of these pebble distributions is clearly (s + t)-solvable. Hence  $\rho_{s+t}^*(G) \leq \rho_s^*(G) + \rho_t^*(G)$ .

### 3. Optimal *t*-rubbling on the complete graph

In this section we find the optimal *t*-rubbling number  $\rho_t^*(K_n)$  of the complete graph  $K_n$  with *n* vertices. It was shown in [4] that  $\rho^*(K_n) = 2$  for  $n \ge 2$ .

**Proposition 3.1.** If *n* and *t* are positive integers, then  $\rho_t^*(K_n) = \left\lceil \frac{2nt}{n+1} \right\rceil$ .

*Proof.* Consider a *t*-optimal pebble distribution with  $a_i$  pebbles on vertex  $v_i$  for all *i*. Let  $a := \sum_{i=1}^n a_i$ . Then

$$t \le m_i = a_i + \left\lfloor \frac{a - a_i}{2} \right\rfloor \le \frac{1}{2}a_i + \frac{1}{2}a.$$

Adding these inequalities for all i gives

$$t \le \frac{1}{2}a + \frac{1}{2}na = \frac{1}{2}(n+1)a.$$

This implies  $\frac{2nt}{n+1} \leq a$ . Since a is an integer, we must have  $\left\lceil \frac{2nt}{n+1} \right\rceil \leq a = \rho_t^*(K_n)$ . Now we show that  $\left\lceil \frac{2nt}{n+1} \right\rceil$  pebbles are sufficient. Let  $s := \left\lfloor \frac{2t}{n+1} \right\rfloor$  and 2t = s(n+1) + r with  $0 \leq r \leq n$ . Then

n

$$\left\lceil \frac{2nt}{n+1} \right\rceil = \left\lceil \frac{2(n+1)t - 2t}{n+1} \right\rceil = 2t - \left\lfloor \frac{2t}{n+1} \right\rfloor = s(n+1) + r - s = sn + r.$$

We verify that the pebble distribution

$$a_i := \begin{cases} s, & i \in \{1, \dots, n-1\} \\ s+r, & i=n \end{cases}$$

containing  $\left\lceil \frac{2nt}{n+1} \right\rceil$  pebbles is *t*-optimal. If  $i \in \{1, \ldots, n-1\}$ , then

$$m_i = a_i + \left\lfloor \frac{(n-1)s+r}{2} \right\rfloor = s + \left\lfloor \frac{2t-2s}{2} \right\rfloor = s+t-s = t.$$

We also have

$$m_n = a_n + \left\lfloor \frac{(n-1)s}{2} \right\rfloor = s + r + \left\lfloor \frac{2t - 2s - r}{2} \right\rfloor$$
$$= s + r + t - s + \left\lfloor \frac{-r}{2} \right\rfloor = t + r - \left\lceil \frac{r}{2} \right\rceil \ge t.$$

### 4. Optimal *t*-rubbling on the path

In this section we find the optimal *t*-rubbling number  $\rho_t^*(P_n)$  of the path  $P_n$  with *n* vertices. It was shown in [4] that  $\rho^*(P_n) = \left\lceil \frac{n+1}{2} \right\rceil$  for  $n \ge 1$ .

#### **Preliminary results**

We start with developing some tools. Consider a pebble distribution with  $a_i$  pebbles on vertex  $v_i$  of  $P_n$  for  $i \in \{1, ..., n\}$ . For  $i \in \{2, ..., n+1\}$  let  $l_i$  be the maximum number of pebbles we can move to vertex  $v_{i-1}$  using only the pebbles on  $v_1, ..., v_{i-1}$ . For  $i \in \{0, ..., n-1\}$  let  $r_i$  be the maximum number of pebbles we can move to vertex  $v_{i+1}$  using only the pebbles on  $v_{i+1}, ..., v_n$ . We define  $l_1 := 0$  and  $r_n := 0$  to simplify some formulas. Note that  $m_1 = r_0$  and  $m_n = l_{n+1}$ . We define

$$\lambda_i := \operatorname{pty}(l_i), \quad \mu_i := \operatorname{pty}(l_i + r_i), \quad \nu_i := \operatorname{pty}(r_i).$$

The No-Cycle Lemma implies the following result.

**Corollary 4.1.** For 
$$i \in \{1, \ldots, n\}$$
 we have

(1) 
$$m_i = a_i + \lfloor \frac{1}{2}(l_i + r_i) \rfloor = a_i + \frac{1}{2}(l_i + r_i - \mu_i);$$
  
(2)  $l_{i+1} = a_i + \lfloor \frac{1}{2}l_i \rfloor = a_i + \frac{1}{2}(l_i - \lambda_i);$   
(3)  $r_{i-1} = a_i + \lfloor \frac{1}{2}r_i \rfloor = a_i + \frac{1}{2}(r_i - \nu_i).$ 

We can now express  $m_i$  without  $a_i$ .

**Proposition 4.1.** For  $i \in \{1, \ldots, n\}$  we have

(1) 
$$m_i = l_{i+1} + \frac{1}{2}(r_i + \lambda_i - \mu_i);$$

(2) 
$$m_i = r_{i-1} + \frac{1}{2}(l_i + \nu_i - \mu_i).$$

*Proof.* Formulas (2) and (3) of Corollary 4.1 imply  $a_i = l_{i+1} - \frac{1}{2}(l_i - \lambda_i)$  and  $a_i = r_{i-1} - \frac{1}{2}(r_i - \nu_i)$ . Substituting these into Corollary 4.1(1) give the desired results.

We prove an identity.

**Proposition 4.2.** *If*  $k \in \{1, \ldots, n\}$  *then* 

$$\sum_{i=1}^{k} l_i = 2\sum_{i=1}^{k} a_i - 2l_{k+1} - \sum_{i=1}^{k} \lambda_i.$$

*Proof.* We use induction on k. The statement is true for k = 1 since

$$l_1 = 0 = 2a_1 - 2a_1 - 0 = 2a_1 - 2l_2 - \lambda_1.$$

The inductive step uses Corollary 4.1(2):

$$\sum_{i=1}^{k+1} l_i = 2 \sum_{i=1}^k a_i - 2l_{k+1} - \sum_{i=1}^k \lambda_i + l_{k+1} = 2 \sum_{i=1}^k a_i - l_{k+1} - \sum_{i=1}^k \lambda_i$$
$$= 2 \sum_{i=1}^{k+1} a_i - 2a_{k+1} - l_{k+1} + \lambda_{k+1} - \sum_{i=1}^{k+1} \lambda_i = 2 \sum_{i=1}^{k+1} a_i - 2l_{k+2} - \sum_{i=1}^{k+1} \lambda_i.$$

The following result is an important special case.

**Corollary 4.2.** If *n* is a positive integer, then

$$\sum_{i=1}^{n} l_i = 2 \sum_{i=1}^{n} a_i - 2l_{n+1} - \sum_{i=1}^{n} \lambda_i.$$

Reversing the path gives the following result.

**Corollary 4.3.** If *n* is a positive integer, then

$$\sum_{i=1}^{n} r_i = 2 \sum_{i=1}^{n} a_i - 2r_0 - \sum_{i=1}^{n} \nu_i.$$

Now we prove a formula connecting the sum of the  $m_i$  with the sum of the  $a_i$ . **Proposition 4.3.** If *n* is a positive integer, then

$$\sum_{i=1}^{n} a_i = \frac{1}{3}(m_1 + m_n + \sum_{i=1}^{n} m_i + \frac{1}{2}\sum_{i=1}^{n} (\lambda_i + \nu_i + \mu_i)).$$

*Proof.* Applying the previous two corollaries to the sum of the formulas in Corollary 4.1(1) gives

$$\sum_{i=1}^{n} m_{i} = \sum_{i=1}^{n} a_{i} + \frac{1}{2} \sum_{i=1}^{n} l_{i} + \frac{1}{2} \sum_{i=1}^{n} r_{i} - \frac{1}{2} \sum_{i=1}^{n} \mu_{i}$$
  
= 
$$\sum_{i=1}^{n} a_{i} + \left(\sum_{i=1}^{n} a_{i} - l_{n+1} - \frac{1}{2} \sum_{i=1}^{n} \lambda_{i}\right) + \left(\sum_{i=1}^{n} a_{i} - r_{0} - \frac{1}{2} \sum_{i=1}^{n} \nu_{i}\right) - \frac{1}{2} \sum_{i=1}^{n} \mu_{i}$$
  
= 
$$3 \sum_{i=1}^{n} a_{i} - m_{1} - m_{n} - \frac{1}{2} \sum_{i=1}^{n} (\lambda_{i} + \nu_{i} + \mu_{i}).$$

### The case t = 3s

**Proposition 4.4.** If s and n are positive integers, then  $\rho_{3s}^*(P_n) \leq s(n+2)$ .

*Proof.* It is clear that the pebble distribution with 2 pebbles each on vertices  $v_1$  and  $v_n$  and 1 pebble each on vertices  $v_2, \ldots, v_{n-1}$  is 3-solvable and contains n + 2 pebbles. Multiplying the number of pebbles on every vertex by s creates a 3s-solvable distribution with s(n + 2) pebbles.

**Proposition 4.5.** If s and n are positive integers, then  $\rho_{3s}^*(P_n) \ge s(n+2)$ .

*Proof.* Consider a 3s-solvable pebble distribution with  $a_i$  pebbles on vertex  $v_i$  of  $P_n$  for all i. Since  $m_i \ge 3s$  for all  $i \in \{1, \ldots, n\}$ , Proposition 4.3 implies

$$\sum_{i=1}^{n} a_i \ge \frac{1}{3}(3s+3s+n3s) = s(n+2).$$

**Corollary 4.4.** If s and n are positive integers, then  $\rho_{3s}^*(P_n) = s(n+2)$ .

#### The case t = 3s + 1

**Proposition 4.6.** If s is a non-negative and n is a positive integer, then  $\rho_{3s+1}^*(P_n) \leq \left\lceil \frac{n+1}{2} \right\rceil + s(n+2)$ .

*Proof.* Since  $\rho^*(P_n) = \lceil \frac{n+1}{2} \rceil$  and  $\rho^*_{3s}(P_n) = s(n+2)$ , the result follows from the inequality  $\rho^*_{s+t}(G) \le \rho^*_s(G) + \rho^*_t(G)$ .  $\Box$ 

To find a lower bound for  $\rho_{3s+1}^*(P_n)$ , we need a preliminary result.

**Lemma 4.1.** *For*  $i \in \{1, ..., n-1\}$  *we have* 

$$m_i + m_{i+1} = \frac{3}{2}(r_i + l_{i+1}) + \frac{1}{2}(\lambda_i + \nu_{i+1} - \mu_i - \mu_{i+1}).$$

*Proof.* Proposition 4.1 implies

$$m_i + m_{i+1} = l_{i+1} + \frac{1}{2}(r_i + \lambda_i - \mu_i) + r_i + \frac{1}{2}(l_{i+1} + \nu_{i+1} - \mu_{i+1}),$$

which simplifies to the desired formula.

**Proposition 4.7.** If s is a non-negative and n is a positive integer, then  $\rho_{3s+1}^*(P_n) \ge \left\lceil \frac{n+1}{2} \right\rceil + s(n+2)$ .

*Proof.* Consider a (3s + 1)-solvable pebble distribution with  $a_i$  pebbles on vertex  $v_i$  of  $P_n$  for all i. First we show that the inequality

$$m_i + m_{i+1} + \lambda_{i+1} + \nu_i \ge 6s + 3$$

holds for all  $i \in \{1, \ldots, n-1\}$ . Note that  $m_i + m_{i+1} \ge 6s + 2$  by (3s+1)-solvability. If  $l_{i+1}$  or  $r_i$  is odd, then  $\lambda_{i+1} + \nu_i \ge 1$  and the inequality holds.

Next assume that  $l_{i+1}$  and  $r_i$  are both even. Then  $\mu_i = \lambda_i$  and  $\mu_{i+1} = \nu_{i+1}$ , which implies  $\lambda_i + \nu_{i+1} - \mu_i - \mu_{i+1} = 0$ . Hence  $m_i + m_{i+1} = \frac{3}{2}(r_i + l_{i+1})$  by Lemma 4.1. This implies that  $m_i + m_{i+1}$  is divisible by 3. Since we also have  $m_i + m_{i+1} \ge 6s + 2$ , we must have  $m_i + m_{i+1} \ge 6s + 3$  as desired.

Using Proposition 4.3 and our inequality, now we have

$$\begin{split} \sum_{i=1}^{n} a_{i} &= \frac{1}{3} (m_{1} + m_{n} + \sum_{i=1}^{n} m_{i} + \frac{1}{2} \sum_{i=1}^{n} (\lambda_{i} + \nu_{i} + \mu_{i})) \\ &= \frac{1}{3} (m_{1} + m_{n}) + \frac{1}{6} \sum_{i=1}^{n} (2m_{i} + \lambda_{i} + \nu_{i} + \mu_{i}) \\ &= \frac{1}{3} (m_{1} + m_{n}) + \frac{1}{6} (m_{1} + m_{n} + \lambda_{1} + \nu_{n} + \mu_{n}) + \frac{1}{6} \sum_{i=1}^{n-1} (m_{i} + m_{i+1} + \lambda_{i+1} + \nu_{i} + \mu_{i}) \\ &\geq \frac{1}{3} (m_{1} + m_{n}) + \frac{1}{6} (m_{1} + m_{n}) + \frac{1}{6} \sum_{i=1}^{n-1} (6s + 3) \\ &\geq \frac{2}{3} (3s + 1) + \frac{2}{6} (3s + 1) + \frac{1}{6} (n - 1) (6s + 3) \\ &= 3s + 1 + (n - 1)s + \frac{1}{2} (n - 1) \\ &= (n + 2)s + \frac{1}{2} (n + 1). \end{split}$$

**Corollary 4.5.** If s is a non-negative and n is a positive integer, then  $\rho_{3s+1}^*(P_n) = \left\lceil \frac{n+1}{2} \right\rceil + s(n+2)$ .

#### The case t = 3s + 2

**Proposition 4.8.** If s is a non-negative and n is a positive integer, then  $\rho_{3s+2}^*(P_n) \leq n+1+s(n+2)$ .

*Proof.* It is clear that the pebble distribution with 2 pebbles on vertex  $v_1$  and 1 pebble each on vertices  $v_2, \ldots, v_n$  is 2-solvable and contains n + 1 pebbles. Since  $\rho_{3s}^*(P_n) = s(n+2)$ , the result follows from the inequality  $\rho_{s+t}^*(G) \le \rho_s^*(G) + \rho_t^*(G)$ .

Finding a lower bound is a bit harder than it was in the previous two cases. We need a tool often used in optimal pebbling. A *smoothing move* removes two pebbles at a vertex of degree two and places one pebble each on the two neighboring vertices. The proof of the following is essentially the same as that of [5, Lemma 6].

**Proposition 4.9.** Let v be a vertex of degree two with at least two pebbles and u be a vertex different from v. If u is treachable from a pebble distribution, then u is also t-reachable from the pebble distribution created by a smoothing move at v.

**Proposition 4.10.** If the pebble distribution on  $P_n$  with  $a_i$  pebbles on vertex  $v_i$  is t-solvable, then

$$\frac{4}{5}t - \frac{2}{5}a_i - \frac{2}{5} + \frac{1}{10}(\lambda_i + \nu_i) \le \frac{1}{2}(l_i + r_i)$$

for all  $i \in \{2, ..., n-1\}$ .

*Proof.* Proposition 4.1(2) and Corollary 4.1(2) imply

$$t \leq m_{i+1} = r_i + \frac{1}{2}(l_{i+1} + \nu_{i+1} - \mu_{i+1})$$
  
=  $r_i + \frac{1}{2}(a_i + \frac{1}{2}(l_i - \lambda_i) + \nu_{i+1} - \mu_{i+1})$   
=  $r_i + \frac{1}{2}a_i + \frac{1}{4}(l_i - \lambda_i) + \frac{1}{2}(\nu_{i+1} - \mu_{i+1})$   
 $\leq r_i + \frac{1}{2}a_i + \frac{1}{4}(l_i - \lambda_i) + \frac{1}{2}.$ 

Hence  $4t \le 4r_i + 2a_i + l_i - \lambda_i + 2$ . Similar argument shows  $4t \le 4l_i + 2a_i + r_i - \nu_i + 2$ . Adding these two inequalities gives the desired result.

**Proposition 4.11.** Let t = 3s + 2 and consider a vertex  $v_i$  with at least s + 3 pebbles for some  $i \in \{2, ..., n-1\}$ . If the pebble distribution is t-solvable, then  $v_i$  is also t-reachable after a smoothing move at  $v_i$ .

*Proof.* Consider a *t*-solvable pebble distribution with  $a_i$  pebbles on vertex  $v_i$  of  $P_n$  for all *i*. Let  $\tilde{a}_i$  be the number of pebbles at vertex  $v_i$  after the smoothing move. Also let  $\tilde{l}_i$ ,  $\tilde{m}_i$ ,  $\tilde{r}_i$ ,  $\tilde{\lambda}_i$ ,  $\tilde{\mu}_i$ , and  $\tilde{\nu}_i$  be the usual values after the smoothing move. Proposition 4.10 implies

$$2s + \frac{1}{10}(\lambda_i + \nu_i) = \frac{4}{5}(3s+2) - \frac{2}{5}(s+3) - \frac{2}{5} + \frac{1}{10}(\lambda_i + \nu_i) \le \frac{1}{2}(l_i + r_i).$$

Corollary 4.1(1) now gives

$$\begin{split} \tilde{m}_i &= \tilde{a}_i + \frac{1}{2} (\tilde{l}_i + \tilde{r}_i - \tilde{\mu}_i) \\ &= a_i - 2 + \frac{1}{2} (l_i + 1 + r_i + 1 - \mu_i) \\ &= a_i + \frac{1}{2} (l_i + r_i) - \frac{1}{2} \mu_i - 1 \\ &\geq s + 3 + 2s + \frac{1}{10} (\lambda_i + \nu_i) - \frac{1}{2} \mu_i - 1 \\ &= 3s + 2 + \frac{1}{10} (\lambda_i + \nu_i) - \frac{1}{2} \mu_i. \end{split}$$

Since  $\tilde{m}_i$  is an integer, we must have  $\tilde{m}_i \ge 3s + 2 = t$ .

**Proposition 4.12.** Assume  $n \ge 2$  and t = 3s + 2. There is a solvable pebble distribution on  $P_n$  with  $\rho_t^*(P_n)$  many pebbles such that  $a_1 \ge 2s + 1$  or  $a_n \ge 2s + 1$ .

*Proof.* Consider a *t*-optimal pebble distribution. Applying all available smoothing moves at vertices  $v_2, \ldots, v_{n-1}$  must end in finitely many steps. This results in a *t*-solvable pebble distribution with  $a_i$  pebbles on vertex  $v_i$  for all *i*. Since no smoothing move is available, we must have  $a_i \leq s + 2$  for all  $i \in \{2, \ldots, n-1\}$ . Using Corollary 4.1(2) repeatedly, we have

$$l_{2} \leq a_{1} + \frac{1}{2}l_{1} = a_{1},$$

$$l_{3} \leq a_{2} + \frac{1}{2}l_{2} \leq a_{2} + \frac{1}{2}a_{1},$$

$$l_{4} \leq a_{3} + \frac{1}{2}l_{3} \leq a_{3} + \frac{1}{2}a_{2} + \frac{1}{2^{2}}a_{1},$$

$$\vdots$$

$$l_{n+1} \leq a_{n} + \frac{1}{2}l_{n} \leq a_{n} + \frac{1}{2}a_{n-1} + \frac{1}{2^{2}}a_{n-2} + \dots + \frac{1}{2^{n-2}}a_{2} + \frac{1}{2^{n-1}}a_{1}$$

The assumption  $a_1, a_n \leq 2s$  gives the contradiction

$$3s + 2 = m_n = l_{n+1} \le a_n + \left(\frac{1}{2} + \frac{1}{2^2} + \dots + \frac{1}{2^{n-2}}\right)(s+2) + \frac{1}{2^{n-1}}a_1$$
  
$$\le 2s + \left(1 - \frac{1}{2^{n-2}}\right)(s+2) + \frac{1}{2^{n-1}}2s$$
  
$$= 2s + s + 2 - \frac{1}{2^{n-2}}s - \frac{2}{2^{n-2}} + \frac{1}{2^{n-1}}2s$$
  
$$= 3s + 2 - \frac{1}{2^{n-3}}.$$

_

**Proposition 4.13.** If  $n \ge 1$  then  $\rho_{3s+2}^*(P_n) \le \rho_{3s+2}^*(P_{n+1}) - s - 1$ .

*Proof.* Consider a (3s + 2)-optimal pebble distribution on  $P_{n+1}$  with  $a_i$  pebbles on  $v_i$  for all i. By the previous proposition, we can assume without loss of generality that  $a_{n+1} \ge 2s + 1$ . We create a new pebble distribution on  $P_n$  with

$$\tilde{a}_i := \begin{cases} a_i, & i \in \{1, \dots, n-1\} \\ a_n + a_{n+1} - s - 1, & i = n \end{cases}$$

pebbles on  $v_i$ . We show that this new pebble distribution containing  $\rho_{3s+2}^*(P_{n+1}) - s - 1$  pebbles is (3s+2)-solvable on  $P_n$ . We have

$$l_{n-1} = a_n + \frac{1}{2}(r_n - \nu_n) = a_n + \frac{1}{2}(a_{n+1} - \nu_n)$$
  
=  $a_n + a_{n+1} - \frac{1}{2}(a_{n+1} + \nu_n) \le a_n + a_{n+1} - \frac{1}{2}(2s+2)$   
=  $a_n + a_{n+1} - s - 1 = \tilde{a}_n$ .

Since the original pebble distribution is (3s + 2)-solvable, the No-Cycle-Lemma implies that the new distribution is also (3s + 2)-solvable for  $v_1, \ldots, v_{n-1}$ .

Now we show that it is also solvable for  $v_n$ . We have

$$\begin{split} \tilde{m}_n &= \tilde{a}_n + \frac{1}{2} (\tilde{l}_n + \tilde{r}_n - \tilde{\mu}_n) \\ &= a_n + a_{n+1} - s - 1 + \frac{1}{2} (l_n - \lambda_n) \\ &= a_n + \frac{1}{2} (l_n + r_n - \mu_n) - \frac{1}{2} (r_n - \mu_n - \lambda_n) + a_{n+1} - s - 1 \\ &= m_n - \frac{1}{2} (a_{n+1} - \mu_n - \lambda_n) + a_{n+1} - s - 1 \\ &\geq 3s + 2 + \frac{1}{2} a_{n+1} - s - 1 \\ &\geq 3s + 2 + s + \frac{1}{2} - s - 1 = 3s + 2 - \frac{1}{2}. \end{split}$$

This implies  $\tilde{m}_n \ge 3s + 2$  since  $\tilde{m}_n$  is an integer.

**Proposition 4.14.** If s is a non-negative and n is a positive integer, then  $\rho_{3s+2}^*(P_n) \ge n + 1 + s(n+2)$ .

$${}^*_{3s+2}(P_{n+1}) \ge \rho^*_{3s+2}(P_n) + n + 1$$
$$\ge n + 1 + s(n+2) + s + 1$$
$$= (n+1) + 1 + s((n+1) + 2)$$

Combining the three cases provides the main result.

**Theorem 4.1.** If s is non-negative and n is a positive integer, then

- (1)  $\rho_{3s}^*(P_n) = s(n+2);$
- (2)  $\rho_{3s+1}^*(P_n) = \left\lceil \frac{n+1}{2} \right\rceil + s(n+2);$
- (3)  $\rho_{3s+2}^*(P_n) = n + 1 + s(n+2).$

It is easy to see that the three cases can be combined into the formula

ρ

$\rho_t^*(P_n) = \left\lfloor \frac{t}{3} \right\rfloor (n+2) +$	$\left\lceil \frac{(t-3\left\lfloor \frac{t}{3} \right\rfloor)(n+1)}{2} \right\rceil$	
--	---	--

### References

- [1] R. A. Beeler, T. W. Haynes, R. Keaton, Domination cover rubbling, Discrete Appl. Math. 260 (2019) 75-85.
- [2] R. A. Beeler, T. W. Haynes, K. Murphy, An introduction to t-restricted optimal rubbling, Congr. Numer. 228 (2017) 129-140.
- [3] R. A. Beeler, T. W. Haynes, K. Murphy, 1-restricted optimal rubbling on graphs, Discuss. Math. Graph Theory 39 (2019) 575-588.
- [4] C. Belford, N. Sieben, Rubbling and optimal rubbling of graphs, Discrete Math. 309 (2009) 3436-3446.
- [5] D. P. Bunde, E. W. Chambers, D. Cranston, K. Milans, D. B. West, Pebbling and optimal pebbling in graphs, J. Graph Theory 57 (2008) 215-238.
- [6] D. Curtis, T. Hines, G. Hurlbert, T. Moyer, On pebbling graphs by their blocks, *Integers* 9 (2009) 411–422.
- [7] L. Danz, Optimal t-Rubbling of Complete m-Ary Trees, REU project report, University of Minnesota Duluth, 2010.
- [8] Z. T. Gao, J. H. Yin, The t-pebbling number of  $C_5 \Box C_5$ , Discrete Math. **313** (2013) 2778–2791.
- [9] E. Győri, G. Y. Katona, L. F. Papp. Optimal pebbling and rubbling of graphs with given diameter, Discrete Appl. Math. 266 (2019) 340-345.
- [10] D. S. Herscovici, B. D. Hester, G. H. Hurlbert, Optimal pebbling in products of graphs, Australas. J. Combin. 50 (2011) 3-24.
- [11] D. S. Herscovici, B. D. Hester, G. H. Hurlbert, t-pebbling and extensions, Graphs Combin. 29 (2013) 955–975.
- [12] G. Hurlbert, Recent progress in graph pebbling, Graph Theory Notes N. Y. 49 (2005) 25-37.
- [13] G. Hurlbert, Graph pebbling, In: J. L. Gross, J. Yellen, P. Zhang (Eds.), Handbook of Graph Theory, 2nd Edition, CRC Press, 2014, 1428–1449.
- [14] G. Y. Katona, L. F. Papp, The optimal rubbling number of ladders, prisms and Möbius-ladders, Discrete Appl. Math. 209 (2016) 227-246.
- [15] G. Y. Katona, N. Sieben, Bounds on the rubbling and optimal rubbling numbers of graphs, Graphs Combin. 29 (2013) 535-551.
- [16] A. Lourdusamy, S. Somasundaram, The t-pebbling number of graphs, Southeast Asian Bull. Math. 30 (2006) 907–914.
- [17] A. Lourdusamy, A. P. Tharani, On t-pebbling graphs, Util. Math. 87 (2012) 331–342.
- [18] K. Milans, B. Clark, The complexity of graph pebbling, SIAM J. Discrete Math. 20 (2006) 769-798.
- [19] C. L. Shiue, Optimally *t*-pebbling graphs, Util. Math. 98 (2015) 311–325.
- [20] C. L. Shiue, H. H. Chiang, M. M. Wong, H. M. Srivastava, Optimal t-pebbling in cycles, Util. Math. 111 (2019) 49-66.
- [21] Z. Xia, Y. Pan, J. Xu, Optimal t-pebbling on paths and cycles, J. Univ. Sci. Technol. China 45 (2015) 186–192.

 $\square$